1. If an operation can be carried out
in r ways and another operation can
be carried out in s ways, then the
number of ways to carry out both the

operations consecutively is rx s, i.e. rs.

2. The rs multiplication principle can
be expanded to three or more opera-
tions. If the numbers of ways for the
occurrence of events A,Band Carer, s
and p respectively, the number of
ways for the occurrence of all the
three events consecutively isrx s x p,
i.e. rsp.

Aditional Notes

nCO =1
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nCr = Cn—r
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1. The number of permutations of
n different objects is n!, where

np _
P, =n!
2. nl, is read as n factorial.

nl=n(n—-1)(n—2)....... 3x2x1
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